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GUESS PAPER – 2010
Class – XII
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M.M. 100
General Instructions-

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each.

3. Questions No.1-5 and 17-21 are very short answer questions carrying 1 mark each. They are required to be answered in one sentence each.

4. Question No. 6-10 and 22-26 are short answer questions carrying 3 marks each. Answer to them should normally not exceed 60 words each.

5. Questions No. 11-13 and 27-29 are also short answer questions carrying 4 marks each. Answer to them should normally not exceed 70 words each.

6. Questions No. 14-16 and 30-32 are long answer questions carrying 6 marks each. Answer to them should not exceed 100 words each.

7. Answer should be brief and to the point and the above word limits should be adhered to as far as possible.

1. Give meaning of opportunity cost.








1
2. When is demand said to be price elastic?








1
3. Define Supply.











1
4. Give meaning of returns to scale.








1
5. What is the effect on price when a monopoly firm tries to sell more?




1
6. Explain the effect of change in price of related goods on demand of a good.



3
7. State three reasons which gives rise to an economic problem.





3

8. Explain the effect of change in income of a consumer on demand for a good.



3

9. Explain the effect of technological progress on supply of a commodity.




3

10. Price elasticity of demand of a good is (-) 1. The consumer spends Rs. 50 on the good at the prevailing price. When price changes he buys 25 units. What is the new price? Use the total expenditure method of calculating price elasticity of demand to answer this question.






3
OR

Price elasticity of demand of a good is (-) 1. The consumer buys 50 units of that good when price is Rs. 2 per unit. How many units will the consumer buy if the price rises to Rs. 4 per unit? Answer this question with the help of total expenditure method.
11. A firm supplies 1000 units of a good at a price of Rs. 5 per unit. Price elasticity of supply is 1. At what price will the firm supply 800 units? 









4
12. Define Marginal Cost. State the relation between marginal cost and average cost.



4
13. A producer supplies 200 units of a good at Rs. 10 per unit. Price elasticity of supply is 2. How many units will the producer supply at Rs. 11 per unit?








4
14. Explain the implications of the following features of perfect competition-




6
a. Homogeneous Product

b. Freedom of entry and exit

OR

Market for a good is in equilibrium. Suppose supply decreases. Giving reason, explain its effect on equilibrium price and quantity. Use diagram.

15. What are the different phases in the behaviour of TP in the Law of Variable Proportions? Use diagram. Also give reasons behind the behaviour in each phase.







6
16. A consumer consumes only two goods. What are the conditions of consumer’s equilibrium in the Utility Approach? Explain the changes that will take place when the consumer is not in equilibrium.

6
 Section – B

17. Define Aggregate supply.









1
18. Define full employment.









1
19. What is a central bank?










1
20. Define revenue receipt in a govt. Budget.







1
21. Give meaning of fixed foreign exchange rate.







1
22. Explain the medium of exchange function of money.






3
23. State the three objectives of a govt. Budget.







3
OR

Give meanings of Primary Deficit, Fiscal Deficit and Revenue Deficit.

24. What is Balance of Payment A/c? Where are “Borrowings from abroad” recorded in it and why?

3
25. There is inverse relationship between foreign exchange rate and demand for foreign exchange. Why?
3
26. Calculate Private Income-









3
a. Retained earnings of private corporation 

5

b. National debt interest.




10

c. Corporate profit tax




25

d. Personal disposable income



150

e. Personal taxes





50

27. There is increase in investment of Rs. 1000 crores in an economy. Marginal propensity to consume is zero. What is the total increase in income? 









4
28. Explain the “Acceptance of Deposits” function of commercial bank.




4 
OR
Explain “Bankers” bank and supervisor” function of central bank.





29. What is a govt. Budget? Explain the meaning of development and non-development expenditures.

4
30. Giving reason, explain whether following are included in national income or not-



6

a. Profit earned by branch of a foreign bank in India.

b. Expenditure on machines for installation in a factory.

c. Interest paid by an individual on a loan taken to buy a car.

31. Explain determination of national income using ‘saving and Investment’ approach. Use diagram. Explain the changes that take place when saving is greater than investment.





6
OR

Explain determination of national income using ‘Aggregate demand and Aggregate supply’ approach. Use diagram. Explain the changes that take place when aggregate demand is greater than aggregate supply.

32. Calculate national income and Gross national disposable income-




6
a. Exports






80

b. Pvt. Final Consumption Expenditure


600

c. Net Current Transfer to the rest of the world

(-)5

d. Govt. Final consumption expenditure


100

e. Subsidies





20

f. Indirect Tax





80

g. Net domestic capital formation



150

h. Net Factor income from abroad



(-)6

i. Closing Stock





60

j. Opening Stock





10

k. Net imports





50

l. Consumption of Fixed Capital



40
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